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Unit 3 - REVIEW 1 pate:_ovt. 25/l
Recall: Form Advantage
Standard form: f(x)=ax’+bx+c Y= M1 f(f(e'{lf o V¢ ”

Vertex form:  f(x)=a(x—-h) +k W (nK)
Factored form: f(x)=a(x—-r)(x~s) Z'm{(/cg,ﬂ{‘f /Zflass: f\; S

la) Write f(x)=(3x~4)(2x-1) in standard form.  b) Write f(x)=8x"-2x-21 in factored form.
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2. Determine the zeros, the axis of symmetry, and the maximum or minimum value for
f(x)=x*+6x-40. Show your work.
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3. Solve
a) 2x* -3x=9 b) x*=13x-30
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4. Can all quadratic equations be solved by factoring?
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5. A ball is thrown from a cliff.
The height of the ball above the ground after it is thrown is modelled by the function

h(r)=—4¢* +8t+192, where h(t) is the height in metres, and ¢ is the time in seconds.

a) How high is the cliff? b) fnd € whan hlE)= 23

b) When will the ball be 27 m above the ground? 5
¢) What is the maximum height that the ball reaches? LrE % ‘(é‘ J—&é +/9a

Q) Lindl Yt ,’mgfi,é’ o s oadh i 6= O <47 2C+16S

/ﬁ_(_;é"(’_g R %R)MA) o=- /‘[é a.,g{ - { 3'\

hE)= -4 () 1R (Y +192 0=~ (3&-15)(2¢ p11)
=792 S -ssTo o1 REHNTO
N ¢ i N 67 /S &é: "/l
‘He Cﬂ'i‘l; m:‘ys«f 18 [9Am i: s P "ff
C> Axis 5’ fywmcﬁj 5 = 4y £z-45.F

g= =S+ 2S5 v h(= 0704 ‘ imad miSy ble
= Fd = $EFID9

I AP g Lo g o 8
= S e mans. I’?jhi iy -3 SeComd

bl recileas o 16 m
aise W gy ound
6. The population of a town P(f) is modelled by the function P(¢)= 6> —75¢+2100, where ¢ is
time in years. NOTE: =0 represents the year 2000. According to the model,
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b) What will the population be in 2035?
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7a) Sketch f(x)= (x—2)2 -7 U'(Qf :',3 b) Write f(x)= (x—2)2 -7 in standard form.
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